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Cluster: 0226 ptr; resid: 0.15; r/c: 17/78

x.range

upstream meme PSSM #1; e=45

1 3 5 7 9 11 13 151 3 5 7 9 11 13

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=9.2e+03

1 3 5 7 9 11 13 151 3 5 7 9 11 13
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7346
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41002
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48320

5128

string −500 −400 −300 −200 −100 −1
47526−1.84

14068−1.86

50135−2.18

47420−2.31

1840−2.33

7346−2.61

10544−2.83

47947−3.22

47446−3.28

50246−3.50

22658−3.57

50326−4.19

23865−4.55

41002−4.60

48320−4.62

5128−4.83

14032−7.91

log10(P) upstream meme1 2 log10(P.clust)=−3.54; 17 seqs; 17 uniq
c(0.5, 2.5)
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